Tuesday 21°t April 2020

Good morning Y4s.

Today | would like you to go to https://whiterosemaths.com and click on Home Learning and then Y4.

Please find Week 1 Lesson 4 called ‘Tenths on a number line.

Watch the short video and then try the activity.
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| have copied the activity below in case you have any problems finding it. Good luck and, if you have time, practise your

times tables by playing Hit the Button or try to beat your PB on the Multiplication Tables Check

https://www.timestables.co.uk/multiplication-tables-check/



https://whiterosemaths.com/homelearning/year-3/
https://www.timestables.co.uk/multiplication-tables-check/
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Tenths on a number line

5.0 5.2 5.4
d) | | | | |
) [ I I | I
o Fill in the decimal numbers on each number line. 10 7.2
a)
I I I I I I I I I I I o Here is a ruler with centimetres as whole numbers and
0 1 millimetres as tenths.
Complete the sentences about points A, B and C.
b) A B C
| | | | | | | | | | |
I 1 1 1 1 I I I I I 1
7 5 6 7 8 9 10 11 12
c) Point A is cm along the ruler.
| | | | | | | | | | |
| | 1 1 T I I | T T 1
10 n Point B is cm and mm along the ruler.
As a decimal it is cm.
o Complete the number lines. Q Point C is cm and mm along the ruler.
As a decimal it is cm.
a) | | | | | |
| 1 T I T 1
1.0 1.1 1.2
o Complete the number lines.
b) | | | | | |
) I 1 1 | ] 1 a) I I I E E
2.6 2.7 2B



5!1 I 5_|5 ! I ! o Draw arrows to estimate the position of the numbers on the
number line.
a)
0.8 0.1 0.5 0.3
(4] | | | ] ] |
| | I I I |
79 89 10.4
| |
[ |
0 1
| | | ] | |
d) | I I I I 1
2 4 b)
4.9 31 45 36 4.0

How long is each line? |
I |

3 5
a —#
) | | | | | | | | | | |
| I ] I | | I | | | |
0 am 1cm o The triangle, circle and cross have the same value on both lines.
Work out the values.
The line is ecm long
b | | | | | | vl | | | |
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I I I I | | I 1 1 T I 40 f"_.. 50
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The line is cm long
| | | | | | | h | | |
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The line is cm long.
Create your own problem like this for a friend.
How would your answers have been different if given O
in millimetres? \._./r
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